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Câu 1. (1,5 điểm) Thực hiện tính 
a. 
[image: image1.wmf]

 EMBED Equation.DSMT4  [image: image2.wmf]3

2

2

3

æö

-

ç÷

èø

                                                                  b. 
[image: image3.wmf]82

22

:

55

æöæö

ç÷ç÷

èøèø


 c. – 0,625 . 
[image: image4.wmf]50

80

æö

ç÷

-

èø

                                                       

Câu 2. (5,5 điểm) Thực hiện phép tính (bằng cách hợp l‎ nếu có thể) 

a, 
[image: image5.wmf]5151

.19.47

4545

-

                                    b, (
[image: image6.wmf]3)3.
[image: image7.wmf]511

0,25:21

456

æöæö

--

ç÷ç÷

èøèø


c) 
[image: image8.wmf]1020

30

40.5

50

                                             d.16,5 . 3,5 -   16,5 . (- 6,5)

Câu 3. (3,0 điểm) Tìm x biết: 
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